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	Reason for change:
	1. Regarding the definition of the known conditions for TCI state,
“TCI state switch is within [X] ms of last transmission of the resource for beam reporting/ measurement for the target TCI state”. The “measurement” refers to one measurement sample and left to UE implementation. If the starting point of known TCI state definition is the moment that UE performs the measurement on the latest resource, network has no idea of the exact time when UE performs the measurement. Then network can not make correct judgement of known case and unknown case for TCI state switching and can not decide when start to scheduling. Thus the reporting of the latest resource is an appropriate starting point. 
2. In order to guarantee the selected RX beam is still valid between the L1-RSRP measurement reported and the target TCI is applied, we suggest X is up to [1.28]ms.
3. It is agreed in RAN4#91 (R4-1907305 ad hoc minutes);
Agreement:
· The known TCI state is defined by the time from the latest measurement resource for the TCI to when TCI activation command is received, 
· If the period is less than X, the TCI state is considered as known. Otherwise the TCI state is considered as unknown.
· Before when TCI activation command is received
· L1 RSRP measurement for the RS to which the target TCI is QCLed with should be reported
The QCLed condition shall be specified in the specification.
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	1. Remove “measurement” in the definition of the known conditions for TCI state.
2. X=[1.28] s
3. The reported RS for the L1-RSRP is the reported RS for the L1-RSRP measurement is the RS in the target TCI state or to which the RS in target TCI state is QCLed.
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8.10	Active TCI state switching delay
8.10.1	Introduction
The requirements in this section apply for a UE configured with one or more TCI state configurations on serving cell in MR-DC or standalone NR. UE shall complete the switch of active TCI state within the delay defined in this section.
8.10.2	Known conditions for TCI state
The TCI state is known if it has been meeting the following conditions:
· TCI state switch is within [X1.28] ms of lastest transmission of the resource for beam reporting/ measurement for the target TCI state
· The UE has sent at least 1L1-RSRP measurement report for the target TCI state, where the reported RS for the L1-RSRP measurement is the RS in the target TCI state or to which the RS in target TCI state is QCLed.
· The TCI state shall remain detectable during the TCI state switching period
· SNR of the TCI state is > -3dB
Otherwise, the TCI state is unknown.
<End of Change 1>

